
124Ba Z = 56 N = 68 adopted link ENSDF link

Based on ENSDF from Oct 2022, and mass evaluation from 2020

BE = 1036.122 ( 0.012) MeV

Qbeta+ = 2.651 ( 0.015) MeV

Energy T J+ J- J-other T1/2

-----------------------------------------------------------------------------------------------

S-alpha= -0.658 ( 0.017)----------------------------------------------------------------------

124BA 1 | 0.000 0+ | | 1 11.0 M 5

124BA 2 | 0.230 2+ | | 2 191 PS 8

124BA 3 | 0.652 4+ | | 3

124BA 4 | 0.873 2+ | | 4

124BA 5 | 0.898 0+ | | 5

124BA 6 | 1.071 0+ | | 6

124BA 7 | | | 1.162 (3+) 7

124BA 8 | 1.228 6+ | | 8

124BA 9 | 1.325 4+ | | 9

124BA 10 | | | 1.353 (2+) 10

----------- -----------------

124BA 11 | 1.357 0+ | | 11

124BA 12 | | | 1.672 (5)+ 12

124BA 13 | | | 1.722 (3-) 13

124BA 14 | | | 1.858 (6)+ 14

124BA 15 | | 1.913 5- | 15

124BA 16 | 1.923 8+ | | 16

124BA 17 | | | 2.034 (4-) 17

124BA 18 | | | 2.262 (7)- 18

124BA 19 | | 2.267 5- | 19

124BA 20 | | | 2.285 (7+) 20

----------- -----------------

124BA 21 | | | 2.359 (6)- 21

124BA 22 | | | 2.479 (8+) 22

124BA 23 | | | 2.498 (6-) 23

124BA 24 | | | 2.647 (7-) 24

124BA 25 | | | 2.688 (10+) 25

124BA 26 | | | 2.691 (7-) 26

124BA 27 | | | 2.705 (8)- 27

124BA 28 | | | 2.722 (9)- 28

124BA 29 | | | 2.907 (8-) 29

124BA 30 | | | 2.975 (9+) 30

----------- -----------------

124BA 31 | | | 3.096 (7-) 31

124BA 32 | | | 3.110 (9-) 32

124BA 33 | | | 3.157 (10-) 33

124BA 34 | | | 3.177 (10+) 34

124BA 35 | | | 3.287 (11)- 35

124BA 36 | | | 3.336 (10-) 36
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124BA 37 | | | 3.436 (12+) 37

124BA 38 | | | 3.592 (11-) 38

124BA 39 | | | 3.692 (12+) 39

124BA 40 | | | 3.694 (11+) 40

----------- -----------------

124BA 41 | | | 3.773 (12-) 41

124BA 42 | | | 3.829 (11) 42

124BA 43 | | | 3.891 (12-) 43

124BA 44 | | | 3.968 (13)- 44

124BA 45 | | | 4.126 (14+) 45

124BA 46 | | | 4.228 (13-) 46

124BA 47 | | | 4.382 (11+) 47

124BA 48 | | | 4.407 (14+) 48

124BA 49 | | | 4.534 (14-) 49

124BA 50 | | | 4.551 (12+) 50

----------- -----------------

124BA 51 | | | 4.604 (14-) 51

124BA 52 | | | 4.762 (15-) 52

124BA 53 | | | 4.766 (13+) 53

124BA 54 | | | 4.892 (16+) 54

124BA 55 | | | 5.010 (15-) 55

124BA 56 | | | 5.027 (14+) 56

124BA 57 | | | 5.216 (16+) 57

124BA 58 | | | 5.329 (15+) 58

S-p = 5.335 ( 0.017)----------------------------------------------------------------------

124BA 59 | | | 5.392 (16-) 59

124BA 60 | | | 5.446 (16-) 60

----------- -----------------

124BA 61 | | | 5.639 (17-) 61

124BA 62 | | | 5.668 (16+) 62

124BA 63 | | | 5.725 (17+) 63

124BA 64 | | | 5.763 (18+) 64

124BA 65 | | | 5.906 (17-) 65

124BA 66 | | | 6.045 (17+) 66

124BA 67 | | | 6.080 (18+) 67

124BA 68 | | | 6.190 (18+) 68

124BA 69 | | | 6.290 (18-) 69

124BA 70 | | | 6.383 (18-) 70

----------- -----------------

124BA 71 | | | 6.453 (18+) 71

124BA 72 | | | 6.556 (19-) 72

124BA 73 | | | 6.581 (19+) 73

124BA 74 | | | 6.704 (18) 74

124BA 75 | | | 6.711 (20+) 75

124BA 76 | | | 6.871 (19-) 76

124BA 77 | | | 6.897 (19+) 77

124BA 78 | | | 6.999 (20+) 78

124BA 79 | | | 7.082 (20+) 79

124BA 80 | | | 7.230 (20-) 80

----------- -----------------
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124BA 81 | | | 7.363 (20+) 81

124BA 82 | | | 7.366 (20-) 82

124BA 83 | | | 7.500 (21+) 83

124BA 84 | | | 7.503 (21-) 84

124BA 85 | | | 7.716 (22+) 85

124BA 86 | | | 7.864 (21+) 86

124BA 87 | | | 7.876 (21-) 87

124BA 88 | | | 7.983 (22+) 88

124BA 89 | | | 8.098 (22+) 89

124BA 90 | | | 8.262 (22-) 90

----------- -----------------

S-2p = 8.313 ( 0.017)----------------------------------------------------------------------

124BA 91 | | | 8.369 (22+) 91

124BA 92 | | | 8.408 (22-) 92

124BA 93 | | | 8.483 (23+) 93

124BA 94 | | | 8.512 (23-) 94

124BA 95 | | | 8.794 (24+) 95

124BA 96 | | | 8.904 (23+) 96

124BA 97 | | | 8.910 (23-) 97

124BA 98 | | | 9.053 (24+) 98

124BA 99 | | | 9.177 (24+) 99

124BA 100 | | | 9.380 (24-) 100

----------- -----------------

124BA 101 | | | 9.428 (24+) 101

124BA 102 | | | 9.525 (24-) 102

124BA 103 | | | 9.562 (25+) 103

124BA 104 | | | 9.613 (25-) 104

124BA 105 | | | 9.916 (25) 105

124BA 106 | | | 9.951 (26+) 106

124BA 107 | | | 9.975 (25+) 107

124BA 108 | | | 9.981 (25-) 108

S-p = 5.335 ( 0.017)----------------------------------------------------------------------

S-n = 11.506 ( 0.017)----------------------------------------------------------------------

S-2p = 8.313 ( 0.017)----------------------------------------------------------------------

S-2n = 20.624 ( 0.031)----------------------------------------------------------------------

S-alpha= -0.658 ( 0.017)----------------------------------------------------------------------

S+p = -1.959 ( 0.029)

S+n = -8.651 ( 0.017)

S+2p = -6.309 ( 0.031)

S+2n = -19.723 ( 0.018)

S+alpha = 1.131 ( 0.031)

gap p = 3.376 ( 0.034)

gap n = 2.856 ( 0.024)

gap 2p = 2.004 ( 0.035)

gap 2n = 0.901 ( 0.035)

gap alpha = 0.473 ( 0.035)

3


